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€CO4YHble 4YacCbl

NMecd4Hble yacbl —

npocTenwmnm npmbop ans otTcyéTa
NPOMEXYTKOB BPEMEHW, COCTOALMN U3 OBYX
NpO3payHbIX COCYO0B, COEANHEHHbIX Y3KOW
FOPNOBUNHOMN, OOMH U3 KOTOPbIX YaCTUYHO
3arofnHeH NecKom.

Bpewmsi, 3a KOTOpoOe NeCcoK Yepes ropfoBUHY
nepecbIinaeTcsa B APYron cocyd, MOXET
COCTaBNATb OT HECKOSTbKUX CEKYHA, OO0

HECKOJIbKMUX YaCOB.
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B mo1HOYH 31 AeKaOPs KayKZOTO roja meCcoYHbIe 4achl

4
V/’ NepeBOPaYMBalOTCA, OTMeYasi Ha4aJl0 HOBOTO roja.
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JaTYMK HaKJIOHA — 3TO KAICy/la C MeTA/UTMYECKUM LIAPUKOM BHYTPH.

[Ilapuk nepeKaThIBaeTCs B KArlCy/ie ¥ 3aMbIKAeT UJIM Pa3MbIKaeT Lielb. TakuM 00pa3omM
DATYMK BBIZAET MTPOCTOM IMPPOBOU CUTHAI: TOTUYECKWUI HOMb U/IN €JUHUILLY B
3aBUCUMOCTHU OT TOT'0, B KAKYIO CTOPOHY HAaKJIOHEHA KaIlCyJa.
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Koa-nporpammbl (cKetuy)

f/ declare constant

const int switchPin = §;

|’/ declare variables

int switchState = 8;

int prevSwitchState = @;

unsigned long previousTime = @;

// positive variable 32 bit, can count up to 4,294,967,295. will hold the time the LED was last changed
int led =2 ;// will be used to count which LED is the next one to be turned on. start out with pin 2
long interval = 1088@,;// interval between each LED turning on
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11 * void setup{) {

12 Serial.begin{9608);// open serial port, 9680 bits per second

13+ for (int x = 2; x < 8; x++) {// LEDs connected to digital 2 - 7

14 pinMode{x, OUTPUT);// declare LED pins as OUTPUT

15 T

16 pinMode(switchPin, INPUT);// declare Switch pin as an INPUT
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18 » void loop() {

xR I TR R I N WU N By ]

19 unsigned long currentTime = millis();

28 [/ get the amount of time the Arduino has been running and store it in a local wvariable

21+ if (currentTime - previousTime > interwval) {

22 previousTime = currentTime;

23 digitalWrite(led, HIGH);

prl led++;

25 ¥ if {(led == 7) {// to check if the LED on pin 7 is turned on

26 1

27 I

28 switchState = digitalRead(switchPin);// read the switch value into the switchState variable

29 Serial.println(switchState);// print the switchState variable

38 if (switchState != prevSwitchState) {// checks to see if switchState does not equal prevSwitchState
31 for (int x = 2; x < 8; x++) {

32 digitalWrite{x, LOW);// if they are din-herent, turn the all LEDs on-h

33 1

34 led = 2;// return the led variable to the first pin

35 previousTime = currentTime;// reset the timer for the LEDs by seting previousTime to currentTime
36 T

37 prevSwitchState = switchState;

38 // save the switch state in prevSwitchState , so you can compare it to the value you get for switchState in the next loop()

39 1}




Kto rotoB uartu ganbue?

M3MeHHTe IIpOrpaMMy TaK, YTOOBI:
- DJIEKTPOHHBIEe ITeCOYHbIe YaChl U3MEPSITH
1 MUHYTY;

- Y 9aCOB MOSIBUJICS OOPATHBINA OCTYET, T.€.
CBETOAHOIbI He TaC/IM BCe IIPH MMOBOPOTE, a
MOTYXa/IU OJWH 33 OTHHUM.



